Subject: Re: poly _fit for less number of points
Posted by David Fanning on Sun, 05 May 2013 22:03:25 GMT

View Forum Message <> Reply to Message

Craig Markwardt writes:

> This fit,
> res = poly_fit(x-mean(x), y, 2)
> gives a smooth fit.

What is the principle here that made you think of this solution and
caused it to work?

Cheers,

David

David Fanning, Ph.D.

Fanning Software Consulting, Inc.

Coyote's Guide to IDL Programming: http://www.idlcoyote.com/
Sepore ma de ni thue. ("Perhaps thou speakest truth.")
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